>
A & 0l & AF 2 E A A
20158 = Z0l& LB H SX ALY
A SXAS I
Hu: L=l ZX
Sl IOl MO X CER-ED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= XA Dt 152,287,838 124,284,795 28,003,043
= 97,593,083
J| 307,767
AlHI 47,169,742
T Hl 7,217,246
Lo =X s 71,031,760 53,788,826 17,242,934
= 48,667,329
AlHI 18,710,153
T Hl 3,654,278
Mot ol Maord X3 64,412,717 48,556,920 15,855,797
= 46,487,195
AlHI 14,768,270
- Hl 3,157,252
J=3 Ks 62,380,580 47,009,764 15,370,816
= 45,556,406
AlHI 13,666,922
T Hl 3,157,252
301 g2 d= 62,380,580 47,009,764 15,370,816
= 45,556,406
Al 13,666,922
-4l 3,157,252
01 MI2EZE 06z 62,380,580 47,009,764 15,370,816
OJI=d3 62,380,580,000& 62,380,580
= 45,556,406
Al 13,666,922
I 3,157,252
Z2AE R34 242,070 244,375 A 2,305
AlHI 242,070
307 glz2+ol & 242,070 244,375 AN2,305
AlHI 242,070
05 RIZt2E = 242,070 244,375 A 2,305
OZzAg Fas4 242,070,000 242,070
Al 242,070
HAS MOt I ALAEHE 195,340 196,000 A 660
Al 195,340
307 21201 A 195,340 196,000 A 660
AlH 195,340
05 RIZt2IEt = 195,340 196,000 A 660
OMAS THItEQl AAHE 195,340,000 195,340
AlHI 195,340
SOl L OIAITHAI & 251,375 249,600 1,775
AlHI 251,375
301 et d = 251,375 249,600 1,775
AlH 251,375
01 Ml2ZE 6= 251,375 249,600 1,775
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SM: =XAD
¥y Loi=x ZX
(¢]

S Mot el dsord & (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
ORo&e oAl K& 251,375,000 251,375
Al 251,375
LSS MHlA 1,295,559 837,381 458,178
= 906,892
AlHI 388,667
307 21201 A 1,295,559 837,381 458,178
2 906,892
Al HI 388,667
05 BIZHRI & 3 1,295,559 837,381 458,178
Okoss MUlA(JI2AMElA) 369,611,000 369,611
= 258,728
AlHI 110,883
OLkolss MHIA(SEAMUIA) 846,720,000 846,720
= 592,704
AlHI 254,016
O =8 MHIA(SIIIHAFAEIA)
19,228,000 19,228
= 13,460
Al HI 5,768
OLosEE MHIA(SHLQ At ZAHEL S A
&) 60,000, 000& 60,000
= 42,000
Al 18,000
SHLQ ESd S20/AHY 47,793 19,800 27,993
= 23,897
Al Hl 23,896
307 21201 A 47,793 19,800 27,993
= 23,897
AlHI 23,896
05 RIZt2IEt = 47,793 19,800 27,993
OSHLUSSAUHHEESZ0M(NSHEH 2F)
21,393,000 21,393
= 10,697
Al Hl 10,696
OSAHLUSSHEEENIMS (AMAERS)
26,400,000 26,400
= 13,200
Al HI 13,200
Lol oS ¥ 18IS HMB 4,366,536 2,951,444 1,415,092
= 1,720,080
Al Hl 2,350,472
I 295,984
Lol 2 27,000 24,000 3,000
AlHI 27,000
307 QI2+0 & 27,000 24,000 3,000
AlHI 27,000
11T MISAASEX 27,000 24,000 3,000
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2N
X ZH -
L= B

el

5 - 4
SA - - ERA(B) - NTAY - BES 0f o il Hl D52

Okous 2 X 27,000,000 27,000
AlH] 27,000

celgxtel 3,281,900 2,188,260 1,093,640
=2 1,640,950
AlHI 1,640,950

307 212t0l & 3,281,900 2,188,260 1,093,640
= 1,640,950
AlHI 1,640,950

05 22t & =3 3,281,900 2,188,260 1,093,640
Ol Riel AL XI& 3,281,900,000& 3,281,900
= 1,640,950
AlHI 1,640,950

ALIOIZE 29 229,360 212,200 17,160
AlBI 196,040
-l 33,320

307 glztol & 229,360 212,200 17,160
AlBI 196,040
-l 33,320

05 22t & =3 229,360 212,200 17,160
OAlLIIZ2E 24 229,360,000& 229,360
AlHI 196,040
T 33,320

2 detgd 270,400 0 270,400
= 67,600
AlHI 178,166
T Hl 24,634

301 YA 270,400 0 270,400
=2 67,600
AlHI 178,166
Tl 24,634

01 MalE2EH 0= 270,400 0 270,400
Ogdzg s&J| =l XA 253,500,000 253,500
= 63,375
AlBI 165,491
-l 24,634
O32Y ot&J dgdl X& 16,900,000 16,900
= 4,225
AlHI 12,675

d2E &=4 XA 49,562 0 49,562
= 11,530
AlHI 19,016
- Hl 19,016

301 2ELE A= 49,562 0 49,562
= 11,530
AlHI 19,016
el 19,016
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A SXAS I
¥ Lol=x B
S Lo WotEs ¥ 1nEJE M3 (&)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 MEIBEE 263 49,562 0 49,562
ozzd 23 XA 49,562,000 49,562
= 11,530
AlHI 19,016
- Hl 19,016
329 29 421,350 416,600 4,750
Al 252,160
Tl 169,190
307 21201 A 421,350 416,600 4,750
Al 252,160
I 169,190
10 ALl SXNAIEEE2EHEX 421,350 416,600 4,750
ozz%g 29 & 421,350,000 421,350
AlHI 252,160
L Hl 169,190
F=HE J2E A2 8,450 8,350 100
AlHI 4,225
T Hl 4,225
301 et d s 8,450 8,350 100
AlHI 4,225
T Hl 4,225
01 MEIEBEZE+06l= 8,450 8,350 100
OF&ZE 32E A2 8,450,000 8,450
Al 4,225
Tl 4,225
ZeYe=slZe gy 22|k X 25,830 23,000 2,830
Al 12,915
1 Hl 12,915
307 21201 A 25,830 23,000 2,830
AlHI 12,915
I 12,915
11T MISXASEX 25,830 23,000 2,830
OZ2E &3 ZZ2 08 2tel X i X
25,830,000& 25,830
Al 12,915
I 12,915
22 243 AIY 20,000 20,000 0
AlHI 20,000
307 glz2+ol & 20,000 20,000 0
AlHI 20,000
11T MISRASEX 20,000 20,000 0
oZzd g4ds XA 20,000, 000& 20,000
AlHI 20,000
329 2el 15,300 41,650 A 26,350
201 Let24d] 1,800 300 1,500
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A SXAS I
Hu: L=l ZX
S Lo WotEs ¥ 1nEJE M3 (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
02 2324l 1,800 300 1,500
OZzg ggdHME=RE= 150,000& »22] 300
OQHY 2= ¥ PCE=S 1,500, 000& 1,500
301 et a = 8,500 8,350 150
01 MEI2EZE+05l= 8,500 8,350 150
OLgY 32¢ 9= 50,000 * 17004 &~ 8,500
405 TtHabH S| 5,000 5,000 0
01 AL EFH S 5,000 5,000 0
OZ2e =23 5,000,000 5,000
Lol #EAHIA X 17,384 17,384 0
203 ¥ S =&l 3,800 3,800 0
03 AIHZ=AH 2 =AH| 3,800 3,800 0
ooty gR=2 800,000 800
OAtot-S0t"e SAIH2Y R2=A
800,000& 800
OMEISXIAE SAX 2HE 38 1,200,000& 1,200
O=XAMEA SRFX 1,000,000& 1,000
301 et d s 13,584 13,584 0
01 MEIEBEZE+06l= 12,000 12,000 0
ONMAS LN ALEEE
1,000,000 »12& 12,000
0B A =ERRAB LS 1,584 1,584 0
Okoge #FEx 1,584
Egalsl 6,000 1222 «12& 1,584
Lo HAE 2Y 1,543,227 1,193,222 350,005
= 453,804
AlHI 1,089,423
LORAANE 29I 97,000 113,000 A 16,000
Al 97,000
307 gl2tol & 97,000 113,000 A 16,000
Al 97,000
10 AL SXNAIEEE2EHEX 97,000 113,000 A 16,000
OLe=EXAE SAR =2X=& 97,000,000 97,000
AlHI 97,000
COANEMASH K 504,227 422,222 82,005
= 453,804
AlHI 50,423
301 et d = 504,227 422,222 82,005
= 453,804
AlHI 50,423
01 MEIBEZE 05z 504,227 422,222 82,005
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EX: XA I}
Hu: L=l ZX
SR moAMAL 29 EERED
. _ = SfE|
SA BB (3H) - NRAY - B Ol At o %@i HRE2
SEETNEIEESETEL
504,227,000 504,227
=2 453,804
Al HI 50,423
LOIQAANE SSAX 22 A 550,000 530,000 20,000
Al HI 550,000
301 et A= 550,000 530,000 20,000
Al HI 550,000
01 Al E & A 462 550,000 530,000 20,000
OLQRIQYLE SIUAN 23
550,000,000 550,000
Al HI 550,000
MOFC- OIS XAE &9Hl X2 392,000 128,000 264,000
Al HI 392,000
307 2iz2tol & 392,000 128,000 264,000
Al HI 392,000
10 MM SAANEEHESIGHEX 392,000 128,000 264,000
OMIIL=REXAIE(4MA) 22 XS
292,000,000& 292,000
Al HI 292,000
Okozx0ot2E2SHEH 2L A& 100,000,000 100,000
Al HI 100,000
LoI=EX o= &= 709,280 1,087,240 A 377,960
= 6,250
Al HI 501,988
24| 201,042
Losis 29 476,220 470,280 5,940
Al HI 339,438
24l 136,782
307 giztol A 476,220 470,280 5,940
Al HI 339,438
24l 136,782
05 QIZtRE S 476,220 470,280 5,940
oLo=Eia 249 476,220,000& 476,220
Al HI 339,438
Tl 136,782
AMEAII=CEX2 2H 220,560 216,960 3,600
Al Hl 156,300
=1 64,260
307 @120l & 220,560 216,960 3,600
Al Hl 156,300
24| 64,260
05 QIZ2t &2 220,560 216,960 3,600
oA =2X2 89 220,560,000 220,560
Al HI 156,300
24l 64,260
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A SXAS I
Hu: L=l ZX
el LIS olZe &5 (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
LoRIFANE JIsEE 12,500 0 12,500
2 6,250
AlHI 6,250
402 RI2EX=20| M 12,500 0 12,500
= 6,250
AlHI 6,250
02 RI2HCH & AL HI 12,500 0 12,500
OLeI=XAE &= 12,500, 000& 12,500
= 6,250
Al 6,250
HAAHNES K& 16,244,346 10,761,624 5,482,722
= 9,451,576
AlHl 6,750,557
I 42,213
=X S& 14,325,926 9,034,351 5,291,575
= 9,386,576
AlH 4,897,617
I 41,733
=2 XA 690,800 748,161 A 57,361
2 483,560
Al 207,240
301 et a3z 690,800 748,161 A 57,361
2 483,560
AlH 207,240
01 MEIBEE 263 690,800 748,161 A 57,361
OHM=¢ 690,800, 000& 690,800
= 483,560
AlHI 207,240
ZO+Y XIS (TAS) 582,300 514,909 67,391
=2 407,610
Al 174,690
301 e A3 582,300 514,909 67,391
= 407,610
Al 174,690
01 MI28E +06l= 582,300 514,909 67,391
OZOH==Z (X&) 582,300,000& 582,300
= 407,610
AlHI 174,690
ZOHQ MeE==< X2 410,000 410,000 0
AlHI 410,000
301 et d = 410,000 410,000 0
AlHI 410,000
01 MEI2EZE+05l= 410,000 410,000 0
OFoel MHe=< 410,000,000& 410,000
Al 410,000
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A SXAS I
HE: oS X
el ZojeI=x B CER-ED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Zopel ozH XA 195,000 300,000 A 105,000
= 156,000
AlHI 39,000
301 et d s 195,000 300,000 A 105,000
= 156,000
AlHI 39,000
01 MEIBEZE 05z 195,000 300,000 A 105,000
OFoHel ozHl XA 195,000, 000 195,000
= 156,000
Al 39,000
ZOHQ XtASH K& 12,000 6,800 5,200
= 9,600
Al 2,400
301 LetR &3 12,000 6,800 5,200
= 9,600
Al 2,400
01 AR 2Z A 353 12,000 6,800 5,200
OHO XrdsHdl XI& 12,000, 000& 12,000
= 9,600
AlHI 2,400
ZOHe SE&EH X&A 17,600 12,000 5,600
= 8,800
Al 8,800
301 gt d= 17,600 12,000 5,600
= 8,800
Al 8,800
01 MI2ZE 6= 17,600 12,000 5,600
OFoel s=ac 17,600,000 17,600
= 8,800
AlHl 8,800
ZOoHel ME2xJ17 X 13,375 15,375 A2,000
= 10,700
L Hl 2,675
301 et d = 13,375 15,375 A 2,000
= 10,700
T Hl 2,675
01 MEIBEZE 06z 13,375 15,375 A 2,000
O&oe MHaexil+ N3 13,375,000& 13,375
= 10,700
- Hl 2,675
Zoperd kel X 621,670 337,324 284,346
= 310,835
Al 310,835
301 LA Z 621,670 337,324 284,346
= 310,835
Al 310,835




2AMd: SXALS
g HAAS NE
Sl HUA=X BA CEEEED
SA - BB B () - MM - BES Ol &t o San HmEET
01 MEIBEE 263 621,670 337,324 284,346
O&el sXLXtel K& 174,068,000 174,068
= 87,034
AlHI 87,034
OFHel #3320 XA 447,602,000 447,602
= 223,801
AlHI 223,801
ZoHo s X& 5,609,224 2,201,584 3,407,640
= 3,953,224
AlHI 1,656,000
307 glz2+ol & 5,609,224 2,201,584 3,407,640
= 3,953,224
AlHI 1,656,000
05 RIZteE = 5,609,224 2,201,584 3,407,640
OFoel s XA 5,520,000, 000& 5,520,000
= 3,864,000
Al 1,656,000
OFHES=S2LE MHlA 89,224,000& 89,224
= 89,224
HF2AYH0ls A3EHOI2 ==X& 14,000 11,000 3,000
AlHI 14,000
301 getE 4= 14,000 11,000 3,000
Al 14,000
01 MI2EZE 406z 14,000 11,000 3,000
OFAHMOIS A3EHN2 ==X&
14,000, 000& 14,000
AlHI 14,000
Zoel gs X2 (ALl 403,218 113,280 289,938
Al 403,218
307 gl2tol & 403,218 113,280 289,938
Al 403,218
05 BIZHRIE 3 403,218 113,280 289,938
OFoel Atz &8sk 403,218,000 403,218
AlHI 403,218
Z0iots MHEX = 554,601 553,800 801
= 388,221
AlHI 166,380
307 glz2tol & 554,601 553,800 801
= 388,221
AlHI 166,380
05 RIZtRE = 554,601 553,800 801
OZOotEs MEx=z 554,601,000 554,601
= 388,221
Al 166,380
YR 22 Azlag X 12,480 0 12,480
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A SXAS I
HE: oS X
Sl HUA=X BA (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= 8,736
Al 3,744
307 glz2+ol & 12,480 0 12,480
= 8,736
AlHI 3,744
05 RIZt2IE = 12,480 0 12,480
OBLIM 22 MM X
12,480,000& 12,480
= 8,736
Al 3,744
g dEsAQ XA 3,300 0 3,300
= 2,640
AlHI 660
307 glz2tol & 3,300 0 3,300
= 2,640
AlHI 660
11T MISXASEX 3,300 0 3,300
oggame de=aAa¢el X& 3,300,000 3,300
= 2,640
AlH 660
oAz XA 5,107,500 3,732,500 1,375,000
= 3,632,790
Al 1,474,710
301 et A3 5,107,500 3,732,500 1,375,000
= 3,632,790
Al 1,474,710
01 AR 2Z A5 3 5,107,500 3,732,500 1,375,000
O&oeldz XA 5,107,500,000& 5,107,500
= 3,632,790
AlHI 1,474,710
A0SR A 16,800 21,560 AN4,760
= 11,760
AlHI 5,040
307 glz2tol & 16,800 21,560 A4,760
= 11,760
AlHI 5,040
05 RIZHRIE 3 16,800 21,560 N4,760
ORI 16,800, 000 16,800
= 11,760
Al 5,040
o s4 & =TS K& 30,000 17,000 13,000
301 et a =z 30,000 17,000 13,000
01 MEIBEE 2063 30,000 17,000 13,000
Osttdels & d=XE=S 30,000,000& 30,000
GHEZMe s& X 3,000 9,000 A 6,000
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2N
X ZH -
L= B

el

0 >
ﬁ\:}_—l
Ol o

07 it

190 A
O X >
JiT ol 12

X

(il

2
re
Pl

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= 2,100
Al 900
301 et a = 3,000 9,000 26,000
= 2,100
AlHI 900
01 MEIBZE 2053 3,000 9,000 A 6,000
O4Ze E4HIE XA 3,000,000& 3,000
= 2,100
AlHI 900
HAHNE B3 3,058 4,058 A 1,000
201 Let24d] 2,258 2,258 0
01 At 22l 2,258 2,258 0
OZOHQ HX 2IAASL HLHH T H=
15,000& 205 300
OHMe XAsXEX M= 800& *11Z*2000H 1,760
OF2AFMAE S&4AEI| 02
16,500& 128 198
203 YR =&l 800 800 0
03 A Z=XH R =AY 800 800 0
OFOHEH X AIESAX 23
400,000& »23l 800
O o 22 84S X3 26,000 26,000 0
AlHI 20,000
T Hl 6,000
307 gl2tol & 26,000 26,000 0
AlH 20,000
T Hl 6,000
10 ALl SXAIEEE2EH EX 26,000 26,000 0
OZOMAXAHL 22XHIH &
26,000,000& 26,000
AlHI 20,000
T Hl 6,000
O =EXAE X3 1,912,940 1,721,793 191,147
= 60,000
Al 1,852,940
ZOoHeI=R2 2SR 950,307 950,229 78
Al 950,307
307 21201 A 950,307 950,229 78
Al 950,307
05 BIZHRI & 3 950,307 950, 229 78
OFHe=R2 22X 950,307,000& 950,307
AlHI 950,307
Fopel =2t EsAE 2N 280,109 166,511 113,598
AlHI 280,109
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2AMd: SXALS
Bu: Fo)E N
S HHA=SXAE X (&)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
307 glz2tol & 280,109 166,511 113,598
AlHI 280,109
10 M SXNANEHE2IHE=X 280,109 166,511 113,598
Q&M =2AESAIE 29 X
280, 109,000& 280,109
AlHI 280,109
FHEsMEIE 2 XA 350,912 318,850 32,062
AlHI 350,912
307 glz2tol & 350,912 318,850 32,062
AlHI 350,912
10 M ZXNANEHI2IHE=S 350,912 318,850 32,062
OFe 25 MeId 2d9XA
350,912,000& 350,912
AlHI 350,912
Aot ZofeEXa =22 24 42,100 42,100 0
AlHI 42,100
307 glz2tol & 42,100 42,100 0
AlHI 42,100
05 RIZHRIE 3 42,100 42,100 0
OAtat= Zofel=2X2 228 249
42,100,000& 42,100
AlHI 42,100
SSEMHQ RFgMady XA 150,000 150,000 0
= 60,000
Al 90,000
307 gl2tol & 150,000 150,000 0
= 60,000
AlH 90,000
10 M3 SXNANEHI2IHEX 150,000 150,000 0
OZZZH NEgMedH XA
150,000, 000& 150,000
= 60,000
AlHI 90,000
ZoHeols=ExE 29 A 40,000 40,000 0
Al 40,000
307 Qiz2tol & 40,000 40,000 0
Al HI 40,000
05 BIZHRIE 3 40,000 40,000 0
OFMelols==xeg 29 40,000,000 40,000
AlHI 40,000
ZOHQ EXD|7 =cldH 29 91,512 53,103 38,409
AlHI 91,512
307 glz2tol & 91,512 53,103 38,409
AlHI 91,512
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EX: XA I}
HE: HUNS N
e HHUEXNAIE NS (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
05 QIZtRES 91,512 53,103 38,409
OASISEHEFRA Z0oHQl XS MEMEH
91,512,000 91,512
Al HI 91,512
NS MEME AR IJEHEEHZ XA 8,000 0 8,000
Al HI 8,000
301 et A= 8,000 0 8,000
Al HI 8,000
01 Al E & A 462 8,000 0 8,000
OXNSMEMHE EAE0H HEIFEHZ XA
8,000,000 8,000
Al HI 8,000
Sstol g =01 XI& 5,480 5,480 0
= 5,000
T 480
=0l =0 A 2G| 5,480 5,480 0
= 5,000
T 480
201 Bt 4,000 4,000 0
= 4,000
01 AP 22| H| 4,000 4,000 0
Osstolef=0l 9893 29 4,000,000& 4,000
= 4,000
203 Q2 =AY 1,480 1,480 0
= 1,000
24l 480
03 AIEH =X H 2 F XY 1,480 1,480 0
O=80/2%D NAPs YREX
1,000,000 1,000
= 1,000
O=s01&=0 HR2F&X 480,000& 480
B8 2 JIEXA 64,991,524 59,714,137 5,277,387
= 39,474,178
J| 307,767
Al HI 21,709,032
Tl 3,500,547
e =X 3,140,112 2,612,510 527,602
= 1,311,257
J| 307,767
Al HI 1,400,693
Tl 120,395
ALINAEXNSHEH &H 167,300 172,500 N5,200
= 83,650
Al HI 41,825
] 41,825
307 212t0| ™ 167,300 172,500 A5,200
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SA =STAYD
g 25 ¢ HEXNE
el ot e =X CEEEED
SA - FE - BI(EA) - NRAY - By 0l &t San DS
= 83.650
Al 41,825
1 Hl 41,825
05 RIZt2IEt = 167,300 172,500 25,200
OHZINEFXNAEH 2 XN& 167,300,000 167,300
= 83,650
Al 41,825
T Hl 41,825
rsdedst XN 429,000 216,500 212,500
= 214,500
Al 214,500
307 Q12+0I & 429,000 216,500 212,500
= 214,500
AlHI 214,500
05 Bzt E = 429,000 216,500 212,500
ONEASELS XA 429,000,000 429,000
= 214,500
Al 214,500
otse=s X& 1,390,100 1,187,659 202,441
= 973,070
Al 417,030
307 glz2+ol & 1,390,100 1,187,659 202,441
= 973,070
Al 417,030
05 RIZt2IE = 1,390,100 1,187,659 202,441
ootols=20l XN& 1,350,100, 000& 1,350,100
= 945,070
AlHI 405,030
O&2s=s0tUsH K& 40,000,000 40,000
= 28,000
AlH 12,000
JIIEESH - 4=Z2X 2 Dok X2 68,005 66,446 1,559
= 34,003
Al 34,002
307 21201 & 68,005 66,446 1,559
= 34,003
Al 34,002
11T M Z2XAS EX 68,005 66,446 1,559
OAfol Dt =8484 29 N
68,005,000& 68,005
= 34,003
AlH 34,002
ASH IR EAG L BAR ZX4Z (M) 5,400 5,400 0
Al 5,400
307 21201 & 5,400 5,400 0
Al 5,400
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SA =STAYD
g 25 ¢ HEXNE
el 0= X (S &2)
SA - BB B () - MM - BES Ol &t o San HmEET
11T MISAASEX 5,400 5,400 0
OAtol HE=ZH4EL 29 5,400,000 5,400
Al 5,400
RN = 625,000 625,000 0
Al 550,000
I 75,000
301 et a3z 625,000 625,000 0
Al Hl 550,000
I 75,000
01 AR 2Z A 53 625,000 625,000 0
OFFOPNELE=, 625,000, 000& 625,000
AlHI 550,000
T Hl 75,000
OHENHEE Nl 2Y 7,200 7,200 0
= 3.600
AlHI 3,600
201 LBH2E| 7,200 7,200 0
= 3,600
AlHI 3,600
01 At 2t 2l 7,200 7,200 0
O0ls - HdES NGl 2F  7,200,000& 7,200
= 3,600
Al Hl 3,600
OlsHd2s N9l 28 483 4,869 4,842 27
= 2,434
AlHI 2,435
201 et 4,869 4,842 27
= 2,434
Al HI 2,435
01 At 22l 4,869 4,842 27
O0ls - HdES NAHl 2435
4,869,000 4,869
= 2,434
AlHI 2,435
Ct2stts X3 439,668 323,393 116,275
J| 307,767
AlHI 131,901
307 21240 & 439,668 323,393 116,275
J| 307,767
AlHI 131,901
05 RIZt2IE = 439,668 323,393 116,275
OU=2aIEs NEAdH2E X&
325,990, 000& 325,990
J| 228,193
Al HI 97,797
ogogg N 58,912,000& 58,912
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2AMd: SXALS
M 28 2 XA
Sl 018 =X CERED
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
| 41,238
Al HI 17,674
Os - g MHl A 16,254,000 16,254
| 11,378
Al 4,876
O0lsdN IEEE =4 16,250, 000& 16,250
| 11,375
AlHI 4,875
Og=adus I 22,262,000& 22,262
J| 15,583
AlHI 6,679
HE=sX 52 3,570 3,570 0
201 2et24d] 1,110 1,110 0
01 At 22l 1,110 1,110 0
OsdEANY EE S 900
sE28 MH 300,000& x33| 900
OWLEH dA2Y 210
S0 2 AN A 70,0003 34 210
203 R =&Yl 1,680 1,680 0
03 AIBFAH S =AY 1,680 1,680 0
OXEIAISMES 23 10,000& »40H 400
O08d2 FX (S A A L X)
1,280,000& 1,280
301 L2 A Z 780 780 0
09 &ALAHI B & Z 780 780 0
OWEZ2&X &A= 100,000& »3H 300
ogs2dus a4 120,000 *2H »23] 480
S22 I8 =X 53 1,299,128 1,288,951 10,177
= 476,131
AlHI 822,997
SAUESAE A= XA 120,111 106,667 13,444
= 108,100
AlHI 12,011
301 L2 AF 120,111 106,667 13,444
= 108,100
AlHI 12,011
01 Al EE E 563 120,111 106,667 13,444
ORXNESAE dH=M 120,111,000& 120,111
= 108,100
AlHI 12,011
2UESAE DEs0 5,816 6,388 ABT72
= 5,235
Al 581
301 L2 A3 5,816 6,388 ABT2
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2N
X ZH -
L= B

el

KIAHS 2t
= 2 XA
22 Jt8 =X 8&

SA - FE - BI(EA) - NRAY - By 0l &t San DS
= 5,235
Al 581
01 MEIBEE 263 5,816 6,388 ABT2
OZXNESANE nEsSH 5,816,000 5,816
= 5,235
Al 581
2UESAE 29 275,729 274,129 1,600
AlHI 275,729
307 21201 & 275,729 274,129 1,600
AlHI 275,729
10 ALl SXAIEEE2EH EX 275,729 274,129 1,600
OAESALA 1148l XI& 196,382,000 196,382
Al 196,382
ozel2d 67,347,000 67,347
Al 67,347
OXA=X=H 12,000,000& 12,000
AlH 12,000
AUESAE B4 HEHEA= N 54,000 54,000 0
Al 54,000
301 et d = 54,000 54,000 0
Al 54,000
01 MEI2EZE 405z 54,000 54,000 0
ORXNESAL 840 A3z N
54,000,000& 54,000
Al 54,000
SERIE 2XAL X 9,740 9,548 192
= 4,870
Al 4,870
307 ©12+0I & 9,740 9,548 192
= 4,870
AlHI 4,870
11T M SRASEEX 9,740 9,548 192
ogaXt a4gxz X 9,740,000 9,740
= 4,870
Al 4,870
StREEIIE 2XAE JHEE208 X3 2,300 2,400 A 100
AlHl 2,300
307 glz2+ol & 2,300 2,400 A 100
AlH 2,300
11T MISRASEX 2,300 2,400 A 100
OstR2IIE =XAE g8 N2
2,300,000 2,300
AlH 2,300
StREEIIEAE 2=H S N2 421,000 446,541 A 25,541
= 336,800
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A SXAS I
Hu: 88 U RIS
ool R0 )Y =X B3 CERED
SA - FE - BI(EA) - NRAY - By 0l &t San DS
Al 84,200
301 et a = 421,000 446,541 A 25,541
= 336,800
AlH 84,200
01 AR 2& A =053 421,000 446,541 A 25,541
Ost2 @Il X L|]H S Xa
421,000,000 421,000
= 336,800
AlH 84,200
SHRE2IHE IH X3 378,000 366,463 11,5837
AlHl 378,000
301 et a = 378,000 366,463 11,5837
Al 378,000
01 MEIBZE 05z 378,000 366,463 11,537
O=10d wsl 250,200,000 250,200
AlHI 250,200
OxzssY a8 16,800,000& 16,800
AlH 16,800
OSRIIE MHH(LSEM) Ul XIS
111,000, 000& 111,000
AlHl 111,000
SAHE F=HXE 1,400 1,500 A 100
Al 1,400
301 et d s 1,400 1,500 A 100
Al 1,400
01 MEI2EZE 405z 1,400 1,500 A 100
SRS =HIE 1,400,000 1,400
Al 1,400
FaE 22 NEXH 18,700 21,315 A2,615
= 14,960
Al 3,740
301 et a = 18,700 21,315 A2,615
= 14,960
Al 3,740
01 MEIBEE 263 18,700 21,315 A2,615
OFAHUBREEXEXE 18,700,000& 18,700
= 14,960
Al 3,740
SHESANE JIsES 12,332 0 12,332
= 6,166
AlHI 6,166
402 212t X201 & 12,332 0 12,332
= 6,166
AlHI 6,166
02 2I2HCH & A S HI 12,332 0 12,332
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2N
X ZH -
L= B

el

=

T e
~ =
02

o HC i
4T Ho =
o

> o

Ol

Jo =

pS|

(il

0,
J

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2

Ogtutgel Xl HE = 12,332,000 12,332
= 6,166
Al 6,166

g - F70t F4JIEF =4 60,552,284 55,812,676 4,739,608
= 37,686,790
Al 19,485,342
Tl 3,380,152

Ol 0l& SAX el2dt] 6,358,369 6,026,375 331,994
= 3,815,022
Al 1,780,343
I 763,004

307 21201 A 6,358,369 6,026,375 331,994
= 3,815,022
Al 1,780,343
I 763,004

10 M2 SXNANEHE2IHEX 6,358,369 6,026,375 331,994

O0eold AR elzdl X &

6,358,369,000& 6,358,369
= 3,815,022
Al 1,780,343
- Hl 763,004

i w2 Y| 77,337 110,000 A 32,663
= 46,403
Al 21,654
I 9,280

307 21201 A 77,337 110,000 A 32,663
= 46,403
AlH 21,654
I 9,280

10 ALSISXAIEEE2FHEX 77,337 110,000 A 32,663
OgIZtelold wiidl XI& 77,337,000 77,337
= 46,403
AlHI 21,654
T Hl 9,280

A2 2,400 2,400 0
2 1,440
AlHI 672
T Hl 288

307 glz2tol & 2,400 2,400 0
2 1,440
AlH 672
- Hl 288

10 ALSISXAIEEE2EH EX 2,400 2,400 0
ONeold xtg=2dd X 2,400,000 2,400
2 1,440
Al 672
I 288
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EX: XA I}
Ha: 28 2 JFAL
oelr @ R0 FAI £4 CER-ED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
geotErsE XN 30, 164,631 29,299, 345 865,286
= 23,373,473
Al HI 5,453,810
T 1,337,348
301 LBt A= 30, 164,631 29,299, 345 865,286
= 23,373,473
Al HI 5,453,810
T 1,337,348
01 Al E & A 462 30, 164,631 29,299, 345 865,286
OgRotEEzs A& 30, 164,631,000 30, 164,631
= 23,373,473
Al HI 5,453,810
Tyl 1,337,348
Sy X 8,343,240 5,776,802 2,566,438
Al Hl 8,343,240
301 et A= 8,343,240 5,776,802 2,566,438
Al Hl 8,343,240
01 Al B & X 262 8,343,240 5,776,802 2,566,438
OxcltE Ex2 K& 8,343,240,000& 8,343,240
Al HI 8,343,240
H&EOOH dt: E€5 A& 17,015 21,378 N4 363
Al HI 14,973
Tl 2,042
301 LBt A= 17,015 21,378 N4 ,363
Al HI 14,973
Tl 2,042
01 Al E & A 462 17,015 21,378 N4 363
OdlIEOor gutEs EgE A& 17,015,000 17,015
Al Hl 14,973
24| 2,042
el old 0lolsots ¥=XS 12,419,938 11,988,054 431,884
=2 9,314,954
Al HI 2,173,489
24l 931,495
301 et A= 12,419,938 11,988,054 431,884
= 9,314,954
Al HI 2,173,489
I 931,495
01 Al B & A 46 2 12,419,938 11,988,054 431,884
ONe ol nioIsots =&
12,419,938,000 12,419,938
= 9,314,954
Al Hl 2,173,489
24| 931,495
Helold s#&sts & =3t A 75,600 73,000 2,600
Al HI 75,600
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A SXAS I
Hu: 88 U RIS
el g KO0t 4018 &4 (&)
SA - BB B () - MM - BES Ol &t o San HmEET
307 glz2tol & 75,600 73,000 2,600
AlHI 75,600
11T MISXASEEX 75,600 73,000 2,600
O0elold adsts & S AMI
75,600,000& 75,600
AlHI 75,600
F2XE Helold niHu+ X3 30,000 32,500 A 2,500
AlHI 30,000
307 glz2tol & 30,000 32,500 A 2,500
AlHI 30,000
10 AL SXAIEEE2EH EX 30,000 32,500 A 2,500
OZFFXNE HEold WiHwz X
30,000, 000& 30,000
AlHI 30,000
2N ool 1ngeg X 11,500 7,900 3,600
AlHI 11,500
307 glz2tol & 11,500 7,900 3,600
AlHI 11,500
10 AL SXAIEEE2EH EX 11,500 7,900 3,600
OZFRNE ooy ze2d XH
11,500, 000& 11,500
AlHI 11,500
RI2F, JIEOE0IE BAL SX+=¢ K& 850,000 850,000 0
AlH 850,000
307 21201 A 850,000 850,000 0
Al 850,000
10 ALl SXNAIEEE2EH EX 850,000 850,000 0
Ozt - JIEe0ls SMHL SX=8 X
850,000, 000& 850,000
AlHI 850,000
ot THeIE HE 0l BALA AR 174,000 109,000 65,000
Al HI 174,000
307 21201 A 174,000 109,000 65,000
Al HI 174,000
10 ALSISXAIEEER2IHEX 174,000 109,000 65,000
O&Jt MelE Helold EsnAt 3¢
174,000,000 174,000
Al 174,000
=38 Hgold XA 411,600 266,900 144,700
= 246,960
Al HI 115,248
I 49,392
307 21201 A 411,600 266,900 144,700
= 246,960
Al Hl 115,248
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EX: XA I}
Ha: 28 2 JFAL
Sl g - R0 FAIIY T4 CERED
(o
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
2HI 49,392
11 Al EXAIE E 411,600 266,900 144,700
O2=28 alold X& 411,600,000 411,600
= 246,960
Al HI 115,248
T 49,392
WA 2283 s X3 1,474,757 1,101,350 373,407
= 884,855
Al HI 412,932
Tl 176,970
307 2Iz2t0| A 1,474,757 1,101,350 373,407
= 884,855
Al HI 412,932
Tl 176,970
10 M SXAEEHESIGHEX 1,474,757 1,101,350 373,407
QLA 22&H & X 1,474,757 ,000& 1,474,757
= 884,855
Al Hl 412,932
24| 176,970
OF2tH el 0| & Ze|lA=2 AUlA X 928 1,100 N 172
Al HI 928
307 giztol & 928 1,100 AN172
Al HI 928
11T A EXAIEEX 928 1,100 N 172
OO0r2t{ 8l 0l & ZelA2 AHA X
928,000 928
Al HI 928
HHEEHEO0IDN ESUAI E44E 17,100 8,400 8,700
Al HI 17,100
307 2iz2to| A 17,100 8,400 8,700
Al HI 17,100
10 MM SAANEEHESIGHEX 17,100 8,400 8,700
OFMEEOE0IE ESNAI Ex4E
17,100,000& 17,100
Al HI 17,100
OlOIAIE ER2Z2LIEHECE 29 7,991 3,297 4,694
= 3,683
Al HI 1,850
T 2,458
301 et A= 7,991 3,297 4,694
= 3,683
Al HI 1,850
T 2,458
09 SHAIAHI EAZ 7,991 3,297 4,694
O0t0IAIE B2 2LIHEY &sXH
7,991,000& 7,991
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2N XA I
. 21 2 IHEXE
Sel g R0t S48 £4 (S &2)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
= 3,683
Al Hl 1,850
2| 2,458
ooy XI& 107,875 107,875 0
201 et A | 19,000 19,000 0
01 AFR22t2l Yl 19,000 19,000 0
OA2LdNs MY S 2,500,000& 2,500
ORXM HEloly H2 L Xt 16,500
-2 &GOt 750,000& *23] 1,500
- A X 1,500,000& x10& 15,000
203 P E= | 800 800 0
03 Al F=X SR =AH| 800 800 0
OBxd:R g2x4 800,000 800
307 212+0| & 88,075 88,075 0
11 A SAAEE X 88,075 88,075 0
ONelold Hetgl sHAb XI& 2,000,000 2,000
Oooglold Hekdl XI& 82,875
- 1009 Ol & 525,000& *20H1 A 10,500
50 ~ 999 450,000 4004 A~ 18,000
21 ~ 499 375,000& *65H A 24,375
- 20 0l Gt 300,000& * 10090 A& 30,000
OZX0tE Helold dMIIe=2 XN
100,000& = 12& 1,200
O&d, Uhs0Helold sSA2EE S0 22
Hl X & 1,000, 000& =24 A~ 2,000
oelold cCtv &XlHl XI& 8,003 0 8,003
Al Bl 8,003
402 QI2F X2 0| & 8,003 0 8,003
Al Bl 8,003
01 DIZtAI2AMEEX 8,003 0 8,003
O0oelold CCTVE XIdHl XI& 8,003,000& 8,003
AlH] 8,003
HHSHHU (2XAFE ) 20,208 20,208 0
=l 20,208 20,208 0
Jl23Hl 20,208 20,208 0
201 Lt 2| 16,008 16,008 0
01 At 22l Yl 16,008 16,008 0
OFRAEE=EH| 8,280,000& 8,280
OJl2g2+8 S| 7,728,000& 7,728
203 P2 E= Y| 4,200 4,200 0
04 2SI L RF=AH| 4,200 4,200 0
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A SXAS I
M AN (XA D)
& 123l (chel & 9l)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
-/

4,200,000

4,200
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